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AN FUASIIB
M J0IZMEEH HASE N
gl A230 XN (ASSHAILSESINH) (Sl & &)
SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
==X 1,352,780 1,309,021 43,759
= 149,799 148,238 1,561
= 48,312 48,080 232
= 1,154,669 1,112,703 41,966
= ZHEEHY HASE N 1,289,087 1,309, 021 A 19,934
= 149,799 148,238 1,561
S 48,312 48,080 232
= 1,090,976 1,112,703 N21,727
=220 XNA(Y=SHMSELESH) 1,289,087 1,309, 021 A 19,934
= 149,799 148,238 1,561
< 48,312 48,080 232
= 1,090,976 1,112,703 A21,727
ol =20 ¥ ateldl 1,126,330 1,146,264 A 19,934
= 47,959 46,398 1,561
< 7,191 6,959 232
= 1,071,180 1,092,907 A21,727
101 Q124 4] 63,733 61,780 1,953
= 47,959 46,398 1,561
< 7,191 6,959 232
= 8,583 8,423 160
04 JIZtHZ22 s+ 63,733 61,780 1,953
o o2 Z 0 el A 63,733 61,780 1,953
i als 2 & 59,950,000 59,950 57,997 1,953
= 47,959 46,398 1,561
S 7,191 6,959 232
[a 4,800 4,640 160
308 MtXIEHSOIH 1,062,597 1,084,484 A21,887
07 IXNHMAR S = 1,062,597 1,084,484 A21,887
o 9230 IZH(ZHIRLES)
3 & 1,062,582,000& 1,062,582 1,084,469 A21,887
Hegs(=e=xmn) 63,693 0 63,693
SHNE(AZS0ME)(AZSHAMSSEIA) 63,693 0 63,693
IBRSHAIY SE3H ZHENH bt 63,693 0 63,693
802 Btet= DI Et 63,693 0 63,693
02 Al - SHIEZSEHEZ 63,693 0 63,693
= 20144 22 HEZ N 63,693,000 63,693 0 63,693
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